d how to answer
the gquestions also. At the end of the time, Ms. Smith will call one member from each group up to the
board to explain how they did the problem. If the team member correctly explains the problem, then
that team will earn points. At the end of all 5 rounds, the team with the most points wins 5 points
extra credit on the test on Friday.

Slope
Use the following given information to determine the slope.
1.) (0,1),(3,3) 2) (4,-2),(5,-5)
2=\ (2 |
D )
3.) Working Outdoors in the Summer 4))
Temperature Calories Burned of
per Day zPrim Oregano
68°F 3030 0 el
62°F 3130 22
°3
Find the rate (or slope) calories are burned 0 123456
based on the outdoor temperature. Weight (ounces)
Z030-2120 K00
{ i - /:-. . B (’;‘i i~ N
e © & tU,U)(H;lv
_ \-<o -
R =L AL |
4.0 - \ “ N

5.) Find the rate (or slope).
The cost of gmup thkets for a museum is $48 for four people and $78 for ten people

(os ¥ *‘L.t‘:’* (< :'Hj e _
-\rudcr:«'

lo-4

l y = .l:'-\ \ D - (',_'j‘)




Roundz'/‘ Fi:;\\>

Answer the following questions. Be sure that all members of rou fstand how to answer
the questions also. At the end of the time, Ms. Smith will call one member from each group up to the
hoard to explain how they did the problem. If the team member correctly explains the problem, then
that team will earn points. At the end of all 5 rounds, the team with the most points wins 5 points
extra credit on the test on Friday.

Rearranging Linear Equations to find Slope and y-intercept

Rearrange the following equations and find the slope and y-intercept.

1.) 2.)
y+¥%ux=0 y+x=3
o x
- " = 9 =%
L %
Slope = ":,:"U Slope = =\
y — intercept = (O y—intercept=
3.) 4)
5x -2y=8 3x—4y=9
~2w = B Sa S -My = G-k
- o =] -
-\ + 2 x PRl CRAT
y — intercept = “ _3 _ CM
2 y — intercept Y




Round 3

Answer the following questions. Be sure that all members of your group understand how to answer
the questions also. At the end of the time, Ms, Smith will call one member from each group up to the
board to explain how they did the problem. If the team member correctly explains the problem, then

that team will earn points. At the end of all 5 rounds, the team with the most points wins 5 points
extra credit on the test on Friday,

Writing Linear Equations
Use the following given information to write linear equations in the y = a + bx form.

1) (3,-5),h=2 2) (-6,1),b=-%
= = o LlS) \ 'Cx"'?/h\k‘(o.)
LY
o > C\Iz
Na —le_L
i ?’(2 o
p——— _\‘
- I 3 3 1
o) \ 9 = "y /'-\\( \
- S I
3.) (7.3),(2,2) 4.) (3,5),(5,3)
i et — — - e -\
I [ 2
- . \ &) - -
- b - On T \kS\
! L & =
Gl s 4= v
B/ - S - &
| ” 8 = \y |
< [ * o X \ Y = = \x
i ke ) \ I~ —_— f\_

o 1) 2 er)
‘t"'}; ' 'f fs/z,

=a

s Y ’\/2_“’5/‘1 x '\




Round 4 QL‘

Answer the following questions. Be sure that all members of your group understand how to answer
the questions also. At the end of the time, Ms. Smith will call one member from each group up to the
board to explain how they did the problem. If the team member correctly explains the problem, then
that team will earn points. At the end of all 5 rounds, the team with the most points wins 5 points
extra credit on the test on Friday.

Graphing Linear Equations

Graph each linear equation:

1) y=-4x—1

Slope =~ “

y — Intercept =

,_._
A
L 4

2) y=2x+4
3 |
21 - ,,r/' »
Slope= /5
y —intercept =  “1
Y
3.)) 3x-8y=72
ok A
¢ = I n’: R
= -9+ ":/’&":'s -

\

Slope =

Y —intercept = - &y /I/




Round 5 &L

Answer the following questions. Be sure that all members of your group understand how\to answer
the questions also. At the end of the time, Ms. Smith will call one member from each group up to the
board to explain how they did the problem. If the team member correctly explains the problem, then
that team will earn points. At the end of all 5 rounds, the team with the most points wins 5 points
extra eredit on the test on Friday.

Graphing Inequalities

Graph the following inequalities:

1) y<Yx-1 )

Slope = /"\

y —intercept = — \ y 13 Tl

Solid or Dashed Line? Eﬁ&\mxi

Plug in point (0, 0) to determine which side & .
of the line should be shaded. L _;ﬁ 23
[ e

i So S\/\oe{ o
i._‘“:‘ JI}(U‘J"\ 5 \ Jrc\g_ U-~€L 4%96{' A;.g‘(a A

9 =) nlude

o

) ©

2) y<4x-1

Slope = 4

y— intercept = —\

Solid or Dashed Line? < 5\id

Plug in point (0, 0) to determine which side

of the line should be shaded. w\.\ﬁm So SVedo the Side oF
LS —
C bz(“_)\f . d(\m \tr\.g % Aoes K)()T 1AL

e (50)

3.) 2x+3y26
“TX -~ x
=Y i(g-?,#

3 : y

N — o 2/
- 3 ¥
Slope = *'2/3 <

A

y — intercept = — /_

Solid or Dashed Line?  So\y &

Plug in point (0, 0) to determine which side

of the line should be shaded.  7() A _s(u} > (o Ul\-\'ﬁ«g So S\'\ac\Q




Round 6

Cory

Answer the following questions. Be sure that all members of your group understand how to answer the
questions also. At the end of the time, Ms. Smith will call one member from each group up to the board to
explain how they did the problem. If the team member correctly explains the problem, then that team will
carn points, At the end of all 5 rounds, the team with the most points wins 5 points extra credit on the test

on Friday.

Find the solution to the system.

System #1: Does this equation need to be Does this equation need to be
y = -4 + 2x | rearranged in order to by in the rearranged in order to by in the
4x — 2y =8 y=a+bx form? WNo y =a+ bx form? j€$
y=-4+ 2x 4x-2y=8
‘Q$7‘ =Y
- 2
\() = =L} 4 Lx
Slope: [ Slope: z
y-int.: ft y-int.: - L1
Graph:
J Answer: i‘: «\ S
A (make sure it’s written as a coordinate)
f/f
/
/
» i > Plug in your answer (X, y) into both

original equations to CHECK for
correctness.

y=-4+2x _ |4x-2y=8

r
-

- /
j:x NAL L AL

o




